



ವಿ. ಆರ್. ಎಂ. ಪ್ರಥಮ ದರ್ಜೆ ಕಾಲೇಜು

ಎಸ್. ನಿಜಅಂಗಪ್ಪ ಬಡಾವಣೆ, ದಾವಣಗೆರೆ-577 ೦೦4, ಕರ್ನಾಟಕ ರಾಜ್ಯ.

A. R. M. FIRST GRADE COLLEGE

S. Nijalingappa Layout, DAVANGERE-577004, Karnataka State.

E-mail: armfgc.dvg@gmail.com

ದಿನಾಂಕ	

Web: www.armfgcdvg.org

ಫೋನ್ : 08192 - 221086

ಕ್ರ.ಸಂಖ್ಯೆ : ಎ.ಆರ್.ಎಂ. ಪ್ರ.ದ.ಕಾ/

4.2.3 Average Annual Expenditure for Purchase of Books during the 2018-19

Following are the details of the expenditure incurred towards the purchase of books. The relevant bills attached herewith

Sl. No.	Shop Name	Invoice No.	No. of Books	Amount
	21018-19			
01	Basava Karune Publications	038	15	7625
02	Chethana Book House	542	32	6900
03	Mahalaxmi Book House	481	09	1440
04	Chethana Book House	453	36	5875
05	Chethana Book House	40	40	6050
06	Mahalaxmi Enterprises (pg)	IN3206	21	10312
			153	38202

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



Smt. D.S. Latha	طب	Se	cond Copy
Basava Karune Publications	400	No.	
Taralabalu Badavane The Principal		10.	039
nagere - 577 005. ARM FG College Davangeye		Date	.01.08.2018
S.No. Title of the book	Price (Rs.)	Qty.	Amount
1. Business Taxation	350 =	15	5,250=00
2 Laws Practice of Income Tax-IsII	475 =	5	2,375=00
			7,625=00
in the strategic than the seven do	6. 8) 100	FP:305	50.
	nua Pen n	jaoti hat	79
1 at 22 of 142	Less Dis	count @35	2,670=00
	Net An	nount :	4,955=07
Rupees (in words). Four thankend nine he	undred	14(5	
bibly give only			Signature

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



<u>/</u>	SRIMAHALAXMI STORES BOC SRIMAHALAXMI STORES BOC Approved by Govt, of Karnataka) Akkamahadevi Road, P.J. Extension, DAVANGER SALE PRICE INCLUDS ALL TAXES Price Pol A. R.M. & F. G. College.	cred	DEP	25/9/18	
No	Particulars	Qty	Rate	AMOUNT	_
)	Sk: Je development Paper - 1	9	160 00	1440 228	
Sill dist	101 20% L		4	1150	00
		ostrel Sebe Ment Motor			
	Marie A. S. A.		(2)		
Pre	pared bypacked bypacked by				

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



PROFORMA INVOICE



MAHALAXMI ENTERPRISES

Wholesale Book Seller & Library Suppliers P.B.No 5617, 66, 57th 'A' Cross, 6th Main, 4th Block,Rajajinagar,Bangalore - 560010 Phone: 080-23157433,23201967,23147997, 9845176553, mehrsatish@gmail.com PAN: ADYPM5945R GSTIN: 29ADYPM5945R1Z2

To:

THE PRINCIPAL M/S A.R.M. FIRST GRADE COLLEGE S.NIJALINGAPPA LAYOUT, DAVANGERE - 577004 KARNATAKA

Ph. 9901697861, 9844828846 Email:riyaz29.md@gmail.com

PROFORMA INVOICE No.: PI506

Date: 23-Jan-2019

Order No. : Sent By :

LORRY G.R./R.R. No. :

Date: 23-Jan-2019 Doc. Through : DIRECT

Weight:

Bundles: 0

Date: 23-Jan-2019 Freight:

Transport Co.: Bank Details:

HSN Code: 49011010

From : BANGAL ORE To : DAVANAGERE

_		From: BA	NGALORE To	: DAV	ANAGE	RE				
No.	ISBN/CODE	TITLE	AUTHOR	PUB	QTY		RATE	GROSS	Dis(%)	NET AMT
1	PSM179	COMPUTER APPLICATION IN BUSINESS	SUDALAIMU	нім	5	₹	675.00	3375.00	20.00	2700.00
2	PCG348	ENTREPRENEURIAL DEVELOPMENT	VASANT DE	нім	5	₹	625.00	3125.00	20.00	2500.00
3	9789350717998	FINANCIAL MANAGEMENT THEORY PROBLEMS CASES	KISHORE	TAX	5	₹	775.00	3875.00	20.00	3100.00
4	9789327282559	MANAGEMENT ACCOUNTING	SHASHI GU	KAL	5	₹	750.00	3750.00	15.00	3187.50
5	9789327276954	ORGANISATIONAL BEHAVIOUR	SHASHI GU	KAL	5	₹	675.00	3375.00	15.00	2868.75
6	9788189301132	UGC NET COMMERCE	TRUEMAN	TRU	5	₹	650.00	3250.00	20.00	2600.00
		36					- 1			
		ui ui	1				- 1			
1		<u> </u>	1							
1										
1										
1										
	j						1			
1	1						- 1			
l	1									
1										
1										
١	1									
l	- 1									
	1								1	
l										
l	1									
			Total:		30	-				16956.2
		* 100	Total .							10000.20
ive	rsion Rates : -	₹ - 1.00				l				

Rupees: Sixteen Thousand Nine Hundred Fifty Six Only E. & O. E.

Remark: Terms & Conditions:

1. This quatation/proforma is valid for 15 days only.

Current publishers prices will be charged at the date of supply.

Cheque/DD should be in favour of Mahalaxmi Enterprises.

5. All disputes if any are subject to Bangalore Jurisdiction only.

For MAHALAXMI ENTERPRISES

NET Amount Payable (₹)

Bank Details : Central Bank of India Branch : Rajajinagar Branch Acc Name : Mahalaxmi Enterprises

Acc no : 1198229640 lfsc code : CBIN0281200 Authorised Signatory

16956.00

Prepared By

Checked By

Page No. :- Page 1 of 1

Co-ordinator Internal Quality Assurance Cell (IQAC) A.R.M. First Grade College, S.N. Layout, Davanagere-577 004.



1	Subject to Mysore Jurisdiction		1 69 108515
್ರಮಾರಕ	ವಾಣಿ: 6454123, 4250105, 2445494		N: 29690108515 C.S.T. 20772944
	ಚೇತನ ಬುಕ್ ಹೌಸ್ 🍴		
	ರೇಣುಕಾಚಾರ್ಯ ದೇವಸ್ಥಾನದ ರಸ್ತೆ, ಮೈಸೂರು -24 ಶಾಖೆಗಳು : ದಾವಣಗೆರೆ, ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗೆ:	Pal	
	542 केंद्र में किया कि किया किया किया किया किया किया क		e.h.
ನಂ.	ee ಕಿಲ್ಲೆಗೆಕ್ಕ್ ಸಮಾಡಿಸಿರುವ ದರಗ್ರಭಿ ಪ್ರಕಾರಕರು	ಚಿತ	ಒಟ್ಟು ಮೊತ್ತ
ಪ್ರತಿಗಳು	ಾಗಿವಿಸೂಪುವ ನರಗಳಾಗಿದ್ದು, ಪ್ರಕಾಶಕ ರಪ್ರಸಥವ ಸ್ಥಾಪ್ತರ್ಗ ತಮಗುಣ ಸಾಗಿರುತ್ತವೆಂದು ಮತ್ತು ಈ ಇತ್ತನನ್ನ ಸಮೂರ್ವಿಲುಪ ತಮ್ಮ ಪ್ರಂಗಗಳೂ ಪ್ರಕಾ ತಕರ ಮೂಲ ಪದ್ಮರಣಗಳೇ ಹೊರತು	າ <u>ພ</u> ອ	ರೂ. ಪೈ
9	ರಾಯಾ ಪ್ರತಿಗೆಟ್ಟಿವೆಂದು ರೂಪಿಂದಿರುವಿಗಿದೆ. ಈ ಚಲನಚಿತ್ರಗಳು		4 11 11 11
	ನಮಾದಿಸಿರುವ ಮೊತ್ತ ಸರಿಯಾಗಿದ್ದು ಸದರಿ ಅಲ್ಲಸ್ಟು ಶಾಸುಮಾಡಬ್ಬಹುದ್ದೆಂದು ದೃಢೀಕ್ರಿಸಲಾಗಿರು	(0:W	1100 00
9	Russes Mathamin Chiba	120. m	220000
	of one of alle Tray of or	sotse -	20000
-	ಸಂಖ್ಯೆ: ಎ.ಆರ್.ಎಂ.ಫೆ.ದೆ.ಕಾ.ರಾ. ದಿನಾಂಕ್	ABO -	160000
	ि १०६७ व नियम् । विकास ।		90000
-	Joseph Joseph Joseph Joseph Joseph	5800	780 40
	2 Time though the bould in	र्यव्या	520 06
1	the tropic	W.	
	IAN	BRAD	I.
	7	First Cr.	M.R.M
	Layout, PRINCIPAL	alingapp Bayange	entry
Je en	A.K.W. FIIs. C.L.		ಹೌಸ್ (ಖಾಂಕ್)
4	S. Nilalingappa Lay-o- DAVANGERE-5//09	# 58/7, ಅಕ್ಕ	ನುಹಾದೇಖ ರಸ್ತ, 1–577 002.
3ST	No 29AAXPC6914E1ZF	1.1.2	
_		- 1	
1	N. C.		
-			
-	The second secon		
ఒం	l ಮೈ ಮಾರಿದ ಪುಸ್ತಕವನ್ನು ಯಾವ ಕಾರಣಕ್ಕೂ ವಾಪಸ್ಸು ಮತ್ತು ಬದಲಾಯಿಸುವುದಿಲ್ಲ.	7.	ಸಹಿ/-

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



TIN: 29690108515 C.S.T. 20772944

Subject to Mysore Jurisdiction

ದೂರವಾಣ: 6454123, 4250105, 2445494

TIN: 29690108515 C.S.T. 20772944

Existing and the state of the s

BORDER

CST No 29AAXPC6914E1ZF

ಒಮ್ಮೆ ಮಾರಿದ ಪುಸ್ತಕವನ್ನು ಯಾವ ಕಾರಣಕ್ಕೂ ವಾಪಸ್ಸು ಮತ್ತು ಬದಲಾಯಿಸುವುದಿಲ್ಲ.

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



POLICIPAL.

ಸಹಿ/-

ಟ ಆತನ ಖುಕ್ ಹೌಸ್ (ಬ್ರಾಂಟ್ # 58/7 , ಅಕ್ಕಮಹಾದೇವಿ ರಸ್ತೆ. ಬಾವಣಗರ -577 002.

Subject to Mysore Jurisdiction

ದೂರವಾಣ: 6454123, 4250105, 2445494

TIN: 29690108515

	ಕೇತನ ಬುಕ್ ಹೌಸ್	Poincipa	0
	ಬಕಾಚಾರ್ಯ ದೇವಸ್ಥಾನದ ರಸ್ತೆ, ಮೈಸೂರು -24 ಎಲೆಗಳು : ದಾವಣಗೆರೆ, ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗ.	4	
		-ARM Firstg	racle colleg
ನಂ.	474 socar 35/2/2019	នាប់ទំនុស្សប្រ Davarag	ere.
ಪ್ರತಿಗಳು	ಸಂಪರ್ಣಗಳ ನಿರ್ವಹಿಸುವುದು ಚಿತ್ರಪ್ರವಾಗಿರುತ್ತವೆ. ಸರ್ವಜನ ಪ್ರಕಾಣಗಳು	स्टाप्टर्स केरा कार्य	ಒಟ್ಟು ಮೊತ್ತ ರೂ. ತ
10		යුතුවල් ස්ථාද් ප්රදේශීන්	1300=00
10	ಕರ್ನಾಟಕದ २३ त्वासी १५०० व	क्रांनाक करतिक विद्यालया करा कर इस विक्रितिक तथा विद्यालया करा कर इस	1250=00
10	Methods o PCharlessials of	'ಭಾಯಾ ಕೃತಿಗಳಿಸುವ ಕ್ಷಮಾದ್ಯ ವೈಭೀಕರಿಗೆ 00.500 ಕೃತಿಗಳಿಸುವ ಕ್ಷಮಾಗ ಸಿಯ್ತರಾಗಿ	2000-00
	. San ga	ಹಾಸುಮಾಡಬಹುಳಂದು ದೈರ್ಡಿಕರಿಸಿ ನಿರ್ಮಾಯ ಮುಖ್ಯ ನಿರ್ಮಾಣಿಗಳು	
	. ವಿಗಿಪಾಕ್ಷಿಪ್ರಾಕ್ಷಿಪ್ರಿ	Ravisingh	
10.	GST & Customs Act [Wisting rang Tax-	500= 00
40	9 9 9 00000	ತ ಸಂಘ: ಎ.ಆರ್.ಎಂ.ಕ್ರ.ವ.ಕಾ.ದಾ/_	COTO O
-		Leey 20% -	-1210= 0
		30000	H840= a
	Four thousand Eight	hundredran :	1
	Fourty Respec	s only.	-
	man A-	(0)	
_	ರಾಜಂಪ್ರಾಡ	্তক্ত	7
723	2 Cto. 200. 200. 200.	ಂ. ಪ್ರಥಕ್ತಿ ರರ್ಜಿ ಕಾಲೀಪ್	
	ಎಸ್. ನಿಜಲಿಂಗಪ್ಪ ಬಡಾವೆಗಿ.	ನಿಜಲಿಂಗ ಪ್ರ ಬಡಾವಣೆ. 🌟 💮	
	- Christian		
		ಜೀತನ ಬುಕ್ ಕ	रेक्स (शत ०हा ^ड)
	AST No 29AAXPC6914E1ZF	# 58/7, ਅਰੂੜ	ುಹಾದೇವಿ ರಸ್ತೆ. –577 002.
194			
		在 在	
-		J 17	

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



Subject to Mysore Jurisdiction			The state of the
AB 4= 1.55, 2415494		: 29690108 C.S.T. 20772	
್ಷ : ು⇒ ಹೌಸ್ ಗ,			
	Pal.		••••••
ರ್ಷ = === ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗ.	La. Col	1212	
300 15 08 2-18 Davon			
ಪುಸ್ತಕದ ಹೆಸರು	ಚೆಲೆ	ಒಟ್ಟು ಮೊತ	
meson on trace of the profession	inde	ರೂ.	ಪೈ
Ticome fad larg Alouts			
- Mehnota Gone	550:W	1100	00
Russies Mattamilia. Chita	220, W	2200	0.0
विह्नाका प्रतास अभि खूर्वाक	2000	2000	T
= = 2006 Euto 718 - 926 " ways	16020	-1500	00
0	1 the best	6900	00
s ley Jos		1.780	0 5
Trive though Fire hould	1	5520	06
Hack an	- Messe	2	
		-	-
	1. 1	-	-
	1	"herbe	1
20 CIPALCONE	ಜೇತನ	ा इन्हर्गित केलात	Al
20 als / 2	# 58/	7, ಅಳ್ಳಮಹಾದೇನೆ	at.
27 CIPALCONE	<i>3</i> √. ∞	ಪರ್ ಷ-577 0 0	2.
de Ristonal 170	100		
ST No 29AAXPC6914E1ZF N.P. HIRATICE PERSON			
- Shy.			
. "			
	· ·		0/-

ಕ್ಷಾಂಶ್ರಭಾಲಗು

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.

